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1800 (mm)
1644.000 (mm)
750 (mm)
1150 (mm)
247.000 (mm)
100 ( )

75 (mm)
8 (mm)

68 (mm)
8 (mm)
72 (mm)
20.000 ()

3 (mm)

M16 4 6
4C)
(CLA)) 0 (mm)
e 30 (mm)
40 (mm)
0.138 (kg)
1.57 (cm?)
2.01 (cm?)
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6L 7.500 (m)
10.0 (kN/m?)
6L 1.500 (m)
0.4
40 (MN/P)

10.0 (KN/m?)

270 (kg/ )
360 (kg/m)
©)
500 (kN/ ) > 8 () = 4000.000 (kN/ )
©)
D
215 (N/mm?)
215 (N/mm?)
215 (N/mm?)
125 (N/mm?)
325 (N/mm?)
2)
46
120 (N/mm?)
90 (N/mm?)
®)
100 ( )
0C)



©

10.0 (kN/m?)

G.L.
= R
S
©
— W.L
o
3
~
g
CD. (e}
o
S
—
No
Y (1] C
(m) (kN/m?) v " (kN/m3) ) (kN/m?)
1|1.500 18 8 30 0
2| 6.000 18 8 30 0
3| 0.030 18 8 30 0
411.740 18 8 30 0
5] 0.030 18 8 30 0
6| 0.700 18 8 30 0
7 20 17 7 20 0
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D

2)

H1

H2

Hi

Hn

Ro

ov, =

10.0 (KN/m?)

=D 2
= 1.800 2
= 0.900 (m)

45.0 +

= Ro cot( >

45.0 +

0.900 cot(
= 1.559 (m)

B, (v:i-GC B

2

0

Ko tanc,

2
)

Po
Hilll({yvllllllll
L NPV CERL
oVv2
Lvvbvuly Y22 @2
ViPylly] viciei
ViLili]y ynlnen
(::;; T/ 4 + @/ 2

(1 _ e-Ko tanpl H1/Bl) + Po e—Ko tanepl H1/B1

1.559>=(18 - 0 1.559)

1.0>=<tan30

26.454 (KN/m?)

B, (V" -G

B,)

Ko tanc,

1.559>(8 - 0 1.559)

1.0>=<tan30
= 22.128 (kN/m?)

x(]_ -

><(1 -

e—1.0><tan30><1.500/1.559) + 10.0x< e—1.0><tan30><1.500/1.559

(1 _ e—Ko tanp2 HZ/B].) + GVl e—Ko tang2 H2/B1

e—1.0><tan30><6.000/1.559) + 26_454xe—l.OXtanSOXS.OOO/l.SSQ



2Dv"
2><1.800><8
28.800 (kN/m2)

ov< @D v, ho = 2D = 2>1.800 = 3.600 (m)
Ro : (m)
B, : (m)
ho : (m)
oV, :n (kN/m?)
H, = n (m)
@, :n o)
C,:n (kN/m2)
VAR (kN/m*)
VAR s (kN/m)
D : 1.800 (m)
Ko : 1.0
Po : 10.0 (kN/m?)
Pel = ho y*,
= 3.600><8.000

28.800(kN/m?)

Pel : (kN/m?)

Po : 10.0 (kN/m?)

ho : 3.600 (m)

H = 7.500 (m)
Pwl = H, yw

= 6.000>=<10.0

60.000 (kN/m?)
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2)

3

gel = (Pel + H; ™) A

ge2

gwl

qw2

Pg

(28.800 + 0.030>8)>0.4
= 11.616 (KN/m?)

=gel + H, vy A
= 11.616 + 1.740><8>0.4
= 17.184 (kN/m?)

= Pwl + H; yw
= 60.000 + 0.030>=<10.0
= 60.300 (kN/m?)

= qwl + H, yw
= 60.300 + 1.740>=10.0
= 77.700 (kN/m?)

_w
2 Tt Rc
3.531

= 2><711><0.870

0.646 (KN/m?)

&
L
2.648

0.750
3.531 (kN/m)

1T g
71><0.646
2.029 (kN/m?)

g: (kN/m?)

Pg : (kN/m?)

W (kN/m)

Rc : 0.870 (m)
G : 2.648 (kN/
L : 0.750 (m)



4)

El

210000000 1

210000000><141.416><10®

296.974

2 (Pel + Pwl) =

2> (28.800 + 60.000)

177.600 (kN)

(qel + qwl) = 11.616 + 60.300 = 71.916 (kN)
(qe2 + gqw2) = 17.184 + 77.700 = 94.884 (kN)
5 = {2 (Pel + Pwl) - (gel + qwl) - (ge2 + gw2)} Rc’

24 (35%5 El + 0.0454 k Rc?)

(177.600 - 71.916 - 94.884)>=<0.870*

- 100
24><(166><296'974 + 0.0454>40000.000><0.870")

o
1

0.000193 (m)

k S

40000.000><0.000193

7.720 (KN/m?)

~m=338Z0a

(KN/?)

m

0.870 (m)
100
141.416 (cm®/m)
210000000 (kN/m2)
40000.000 (KN/m®)
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(

(

)

)

Pel
Pwl
Pvl

gel
gwl
Pgl

ge2
qw2
Pg2

Pg

Pv2

Pg

28.
60.
88.

11.
60.
71.

17.
77.
94.

88.

800
000
800

616
300
916

184
700
884

.720

.029

800

.029

(KN/2)
(KN/m?)
(KN/2)

(KN/m?)
(kN/m2)
(KN/m?)

(KN/?)
(KN/2)
(KN/m?)

(KN/2)

(kN/m?)

(KN/2)

(kN/m?)



C)

q = 7.720 (kKN/m?)

=

Pvl = 88.800 (KN/m?)

g = 0.646 (kN/m?)
X

Pv2 = 88.800 (KN/m?)

Pgl = 71.916 (KN/m?)

P2 = 94.884 (KN/m?)

Pg = 2.029 (kN/m?)

CSD
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CIVIL SOFT DEVELOPMENTS CO., LTD
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(S}
&
Pg
Tt
) 0 (S e}
- S . S 2 <
M, -(8 1T - O sin® - 6 cosO) g Rc (1+100)
1
N, = (O sin© - 5 c0sO) g Rc
1
Q = -(© cosO + & sin®) g Rc
T
2) > (S T

LS ; 2 LA 2 <
Mg —(-8 + (7T - ©) sin® - 6 cos© - > sin’©) g Rc (1+100)

1
, = (-7t sin® + O sin® + 1T siN’O - 5 cos©) g Rc

1
Q ={@T - ©) cosO - 1T Sin® cosO - 5 sin®) g Rc

10
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®

Pvl

Rc

NERRE

BERRE

Pv2

1

<

a (1 - 2 sin@) Pvl Re?2 (1 + 720)

Pvl Rc sin’©
-Pvl Rc sin©® cos©

100

qq

aq

1

8 (6 - 3 cosO - 12 cos’O + 4 cos’O) qq Re? (1

1
6 (cos® + 8 cos’©® - 4 cos’@) qq Rc

1
6 (sin® + 8 sin® cosO - 4 sin® cos’©) qq Rc

Pg2 - Pgl

1

1

<.
* 1000



C)

Pq1]

Rc

Pql

1

a (1 - 2 cos?©) Pgl Rc? (1 +

cos’© Pql Rc
sin® cosO Pgl Rc

12

<
100
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) 0 ©

e

Rc

n
4

3
2 Tt

n
2

= (-0.3487 + 0.5 sin’@ + 0.2357 cos’©) q Rc? (1 +

0.3536 cos© g Rc
0.3536 sin©® g Rc

(S} TT

(0.2346 - 0.3536 cos®) q Rc? (1 +

<
100

= (-0.7071 cos©® + cos’@ + 0.7071 sin’© cosO) q Rc

= (sin® cos® - 0.7071 cos’© sin®) q Rc

TT

2

(S]

3
R
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Qq = _Qq)

(kN m/m)
(kN/m)
(kN/m)
(rad)
(kN/m?)
(m)
(kN/m?)
(kN/m?)
(kN/m?)
(kN/m?)



€y

@

«c ) ( )
Ma Moy Mqa MPa Mq M
() | (kN m/m) | (kN m/m)| (kN m/m) (kN m/m) (kN m/m) | (KN m/m)
0 0.169| 16.803 -1.811 -13.608| -0.695 0.857
10 0.160| 15.790 -1.728 -12.788| -0.664 0.770
20 0.135| 12.872 -1.484 -10.425| -0.571 0.528
30 0.095 8.402 -1.087 -6.804| -0.419 0.188
40 0.044 2.918 -0.558 -2.363| -0.212| -0.171
50 -0.013| -2.918 0.064 2.363 0.043| -0.461
60 -0.071| -8.402 0.724 6.804 0.326| -0.618
70 -0.125| -12.872 1.351 10.425 0.597| -0.624
80 -0.167| -15.790 1.861 12.788 0.803| -0.505
90 -0.192| -16.803 2.173 13.608 0.884| -0.330
100 -0.194| -15.790 2.223 12.788 0.803| -0.170
110 -0.170| -12.872 1.978 10.425 0.597| -0.041
120 -0.121| -8.402 1.449 6.804 0.326 0.056
130 -0.054| -2.918 0.691 2.363 0.043 0.125
140 0.022 2.918 -0.196 -2.363| -0.212 0.169
150 0.097 8.402 -1.087 -6.804| -0.419 0.189
160 0.159| 12.872 -1.846 -10.425| -0.571 0.190
170 0.201| 15.790 -2.356 -12.788| -0.664 0.183
180 0.215| 16.803 -2.535 -13.608| -0.695 0.180
« ) ( )
N, Npy Ngg Npg Ng N
() | (kN/m) | (KN/m) (KN/m) (KN/m) (KN/m) | (kN/m)
0 -0.094| 0.000 6.244 62.567 2.375| 71.093
10 |-0.075| 2.330 6.148 60.680 2.339| 71.422
20 |-0.021| 9.037 5.851 55.248 2.232| 72.347
30 0.066| 19.314 5.330 46.925 2.057| 73.692
40 0.180| 31.920 4.574 36.716 1.819| 75.210
50 0.316| 45.336 3.604 25.851 1.514| 76.620
60 0.463 | 57.942 2.498 15.642 1.085| 77.630
70 0.613| 68.219 1.396 7.319 0.596| 78.143
80 0.757 | 74.926 0.492 1.887 0.178| 78.239
90 0.883]| 77.256 0.000 0.000 0.000| 78.139
100 0.956 | 74.926 0.111 1.887 0.178| 78.057
110 0.946| 68.219 0.941 7.319 0.596| 78.021
120 0.861| 57.942 2.498 15.642 1.085| 78.028
130 0.721| 45.336 4.652 25.851 1.514| 78.073
140 0.549 | 31.920 7.152 36.716 1.819| 78.156
150 0.375] 19.314 9.656 46.925 2.057| 78.328
160 0.227| 9.037 11.794 55.248 2.232| 78.538
170 0.128| 2.330 13.231 60.680 2.339| 78.708
180 0.094| 0.000 13.738 62.567 2.375| 78.773
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« ) ( )
Q Qpy Qua Qrq Q Q
() | (kN/m)| (kN/m) | (kN/m) (kN/m) (kN/m) | (KN/m)
0 | 0.000/ 0.000 0.000 0.000| 0.000| 0.000
10 | -0.113| -13.212 1.084 10.700|  0.412| -1.128
20 | -0.216| -24.830 2.130 20.109| 0.812| -1.996
30 | -0.302| -33.453 3.077 27.092|  1.187| -2.397
40 | -0.361| -38.041 3.838 30.808|  1.527| -2.229
50 | -0.387 -38.041 4.295 30.808|  1.804 | -1.521
60 | -0.375  -33.453 4.326 27.092| 1.880| -0.530
70 | -0.323| -24.830 3.836 20.109|  1.637| 0.428
80 | -0.229| -13.212 2.790 10.700/  1.008| 1.057
90 | -0.094 0.000 1.249 0.000| 0.000| 1.155
100 | 0.073| 13.212 -0.627 -10.700| -1.008| 0.951
110 | 0.245 24.830 -2.587 -20.109| -1.637 0.742
120 | 0.389 33.453 -4.326 -27.002| -1.880| 0.543
130 | 0.482| 38.041 -5.544 -30.808| -1.804 | 0.367
140 | 0.509| 38.041 -6.001 -30.808| -1.527| 0.214
150 | 0.463| 33.453 -5.575 -27.092| -1.187 | 0.061
160 | 0.351 24.830 -4.293 -20.109| -0.812| -0.033
170 | 0.189| 13.212 -2.333 -10.700| -0.412| -0.044
180 | 0.000 0.000 0.000 0.000| 0.000| 0.000
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210 150 210 150
180 180
®
e M N Q
«C ) )| (kN m/m)y | (kN/m) | (kNZm)
+Mmax| 0| 0.857|71.093| 0.000
Nmax | 180  0.180| 78.773| 0.000
Qmax| 30| 0.188| 73.692| -2.397
®)
o M N Q
«C ) ()| (kN m/m)y | (kN/m) | (kNZm)
-Mmax| 70| -0.624|78.143| 0.428
Nmin| 0|  0.857| 71.093| 0.000
Qmin| 0| 0.857|71.093| 0.000

16




@
D

25t

25t

>

>

tr = 8(mm)
h = 75(mm)
L = 750(mm)
t = 3(mm)

SA

2 (tr h + 25 t?)
2> (8>75 + 25%3?)
1650.000
16.500><102 (mm?)

h t
2{trh(t+7)+25t27}

yo SA

75 3
2><{8>=75>%(3 + T) + 25><32><T}

16.500>< 102

29.864 (mm)

(h+1t)-yo
(75 + 3) - 29.864
48.136 (mm)

yi

17




Rc

Z0o

Zi

R - yo
1800
2

870.136 (mm)

- 29.864

yi® (yo - t)°
2 {tr 3 + tr 3

48.136° (29.864 - 3)°
=<

t
+ 25 t2 (yo - _E_)Z +

2><{8>< 3 +8

1414159.091
141.416><10* (mm*/m)

L
yo
141.416>10°
29.864
47353.335
47.353>10° ()

L
yi
141.416>=<10*
48.136
29378.428
29.378>10° (mm®)

3

18

25t t L
12 oo
+ 2532 (29.864 - —§—)2 p 2583, 750
. 2 12 1000



2)

N M
oo = (ﬁ + E) L
_ N M
oi = (g - _E}_) L
oo s (N/mm?)
oi : . (N/mm?)
N = (N/m)
Mo (N mm/m)
SA : (mm2)
Zo : (mm®/m)
Zi (mm®/m)
L (m
N/A M/Zo M/Zi o0 oi
() | (\V/mm2/m) | (N/mm2/m) | (N/mm2/m) | (N/mm2) | (N/mm2)
0 43.087 24.131 38.895| 50.414| 3.144
10 43.286 21.681 34.947| 48.725| 6.254
20 43.847 14.867 23.964 | 44.036| 14.912
30 44 .662 5.294 8.532| 37.467| 27.098
40 45.582 -4.815 -7.761| 30.575| 40.007
50 46.436| -12.981| -20.923| 25.091| 50.519
60 47.048| -17.401| -28.048| 22.235| 56.322
70 47.359| -17.570| -28.321| 22.342| 56.760
80 47.418| -14.219| -22.920| 24.899| 52.754
90 47.357 -9.292| -14.977| 28.549| 46.751
100 47.307 -4.787 -7.716| 31.890| 41.267
110 47.285 -1.154 -1.861| 34.598| 36.860
120 47.290 1.577 2.542| 36.650| 33.561
130 47.317 3.520 5.673| 38.128| 31.233
140 47.367 4.759 7.670| 39.095| 29.773
150 47.472 5.322 8.578| 39.596| 29.171
160 47.599 5.350 8.623| 39.712| 29.232
170 47.702 5.153 8.306| 39.641| 29.547
180 47.741 5.068 8.169| 39.607| 29.679
osa, = 215 (N/mm?)
osa, = 215 (N/mm?)
oo, = 50.414 (N/mm?) 0K
oo, = 22.235 (N/mm?) 0K
oi, = 56.760 (N/mm?)  OK
oi, = 3.144 (N/mm?) 0K

19



@
1y

40t

ts

yo

hs
=

A=TT._2 N
‘ }

-
- >
o
&
Y 0y
Bs
ts = 8(mm)
hs = 68(mm)
Bs = 72(mm)
t = 3(mm)
R1 =1.5 ts
=1.5%<8
= 12.000 (mm)
R2 = 2.5 ts
= 2.5%8
= 20.000 (mm)
LAS
RA =40 t*> + ts (hs - R2) + e (R2> - R1?) + ts (Bs - R2)
Tt
= 40>=<3% + 8> (68 - 20.000) + T><(20.0002 - 12.000%) + 8 (72 - 20.000)
= 1361.062
= 13.611><10% (mm?)
M= (2 ts + LB G AL
= (2 ts 24) p— sm;4

- 8 AT
= (2%<8 + 24)><_’_[><S|n 2

20



10.398 (mm)

hs - R2 hs + t - R2 + M R2Z - R12
52 ) ts (hs - R2) + S 4)"( )

(ep]
1

t
40t27+(t+

t
+ts(Bs-R2)(hs+t-75)

3 68 - 20.000
= 40%Fx—— + (3 + =) >8>(68 - 20.000) +

(68 + 3 - 20.000 + 10.398)>TT> (20.000? - 12.000?)
4
= 51124 .800
51.125><10% (mm*)

8
+ 8> (72 - 20.000)=(68 + 3 - =)

_ 6
YO = Ra
51.125><10°
13.611><10?
37.562 (mm)

t+hs - yo
3 + 68 - 37.562
33.438 (mm)

<
1

ts (yo - t)° N ts (yi - R2)®

t
- 2 _—\2
I =40 t° (yo 2)+ 3 3

, % (R2? - R1) (yi - R2 + N)?

t
+ts (Bs - R2) (yi - 75)2 +0.055 (R2* - R1%)

8> (37.562 - 3)° 8>(33.438 - 20.000)°
3 ¥ 3 *

3 TT
= 40><3%><(37.562 - 7)2 + T><(20.0002

8
- 12.000%)>(33.438 - 20.000 + 10.398) + 8(72 - 20.000)(33.438 - —)?

+ 0.055>(20.000¢ - 12.000%)
= 1067131.579
106.713>10" (mm*)

A
= %
B 106.713>=<10*
37.562
28409.829
28.410><10° (mm*)

L
= i
106.713><10*
33.438
31913.691
31.914>10° (mm®)
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Is

L
7
7

-2tr
50 - 2>=8
34.000 (mm)

s

RA
106.713>=<10*
13.611><102

2

8.000 (mm)

Is

734.000

1

28.000

0.000 (mm)

h
G +tH-yo+e

75
(C 5t 3) - 37.562 + 10.000
12.938 (mm)
Pmax
Pgl + Pg2
(— +0
Pvl + Pg

88.800 + 2.029
90.829 (KN/m?)

Pg2 = 94.884 (kN/m?)

(gl + PgD)
2
(71.916 + 94.884)
2

91.120 (KN/m?)

+ 7.720

P3 0.095 (N/mm?)

22

(Pvl + Pg)

(Pg2)



(S]
P3 360 1T D
0 095><—29;999—><TT><1800
. 360

29.809 (N/mm)

Is?
W 12
734.000?
29.809>< 12

1338314.800 (N mm)

M
20
_1338314.800
T 28409.829
47.107 (N/mm?) 215 (N/mm?)
M
Zi

_1338314.800

31913.691
41.935 (N/mm?)

41.935 (N/mm?) 215 (N/mm?)
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2)

1.0 cm
9, =k S 1.0
O_ba(l - Gea)
hs
—— 34 SM490A
ts
_ P
PE7N
_500000.000
- 2
= 250000.000 (N/ )
P
9 =R
_250000.000
T 1361.062
= 183.680 (N/mm2)
O, =325 - 1.42 (\ - 8) 1.5
= 325 - 1.42><(26 - 8)><1.5
= 286.660 (N/mm?)
_e P
G =79
_12.938>250000.000
B 28409.829
= 113.851 (N/mm?)
Oy, = Oy
= 325 (N/mm?)
1200000
O-ea = /\2
_ 1200000
T 262
= 1775.148 (N/mm2)
O-c cb
O * O 1
ca C
Gba (l - Gea)
183.680 113.851
286.660 spe(y . 1B3.680 1.032
- 1775.148)
s 34
ts
68
—5 =8.500  OK

24
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qQ

(N/mm?)

(N/mm?)
AN aca(N/mm?)
8 325
115325 - 1.42 (A\ - 8) 1.5
(N/mm?)
(N/mm?)

(\N/mm2)

25

250000.000 (N)
1361.062 (mm?)
500000.000 (N)

2()
26



®

Pp

Pu

o
2 Ri Sin(T)

20.000
2><898.500><sin(T)

312.046 (mm)
t3
L0
3

12
2.250 (mm*) (Llmm )

1.0x<

t
4 (?)2 o,

4><

2
12,0290 3%

0.120 (N/mm?)

o, ts?

4 E1I
(l_VZ)

325>3>312.0462
4><210000.000><2.250
1-0.3

45.711

1.10 Pp [ F
1.10%0.120><1[ 45.711

0.892 (N/mm?)
892.000 (KN/m?)
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Pmax (Pvl + Pg) (Pg2)

Pgl + Pg2
(—5—+0

(300.0 kN/m?)

PVl + Pg
88.800 + 2.029
90.829 (KN/m?)

Pg2 = 94.884 (kN/m?)

(Pgl + Pg2) ‘g
2
(71.916 + 94.884)
2
91.120 (kN/m?)

+ 7.720

Pmax  94.884 (kN/m?)

__Pu
o Pmax
_892.000
T 94.884
= 9.401 1.5 ( ) OK
_892.000
~ 394.884
=2.259 1.5 () OK
Pu : (kN/m?)
Pmax : (kN/m?)
1 mm (mm*)
s (mm)
o
O, 20.000 ()
o, 325 (N/mm?)
t 3 (mm)
E 210000.000 (N/mm?)
AV (=0.3)
Ri 898.500 (mm)
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C)

D

(S]0]

di=":

dl
h - (el+ 5 )

0
75 - (30 + T)
45.000 (mm)

{

eo

(M - Nyo) L

}

nb Ab

(857000.000 - 71093.000>=<29.864)>=0.750

{

45.000

}

-33.602 (N/mm?)

4>=<157.000

120 (N/mm?)

(N/mm?)

28

OK

(mm)

857000.000 (N mm/m)

71093.000 (N/m)

0.750 (m)

4(C)

157.000 (mm?)

29.864 (mm)

75 (mm)

30 (mm)

0 (mm)



2)

©=0 50
() N (sina-0.3 cosax) | Q (cosax-0.3 sinox) Qo
) (N/m) (N/m) (N/m)
0 | 71093.000 0.000 8145.813 0.000| 8145.813
10 | 71422.000 | -1128.000 8183.509 -1170.553 | 9354.062
20 | 72347.000 | -1996.000 8289.496 -2071.297 | 10360.793
30 | 73692.000 | -2397.000 8443.605 -2487.425| 10931.030
40 | 75210.000| -2229.000 8617.537 -2313.087 | 10930.624
50 | 76620.000 | -1521.000 8779.095 -1578.378 | 10357.473
Ring Qo max
Qo max = 10931.030>=<0.750
= 8198.273 (N/ )
_ Qo _max
Tb = nb Abs
__8198.273
~ 4>201.000
= 10.197 (N/mm?) 90 (N/mm?) 0K
Qo max : N)
b : (N/mm?)
f: (=0.3)
o : 23 ()
nb : 4(C)
Abs : 201.000 (mm?)
L: 0.750 (m)
30 ()
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( Kg )

@ 1800><750><75>8><3 SM490A (o

23 © = 20.000

‘ (mm) (mm | kg) | C ) (kg)
| 75 < 8.0 1184| 5.577| 2|11.154
| 75 < 8.0 750| 3.533| 2| 7.066
| 742 < 3.0| 124721.790| 1| 21.790
| 125 < 8.0 734| 5.762| 3| 17.286
A(80 )
| 2B 60| 0.770| 1| 0.770
| 100 < 6.0 75| 0.353] 1| 0.353
| - _ e _
| 58.419
| 75 =< 8.0, 1166| 5.492| 2| 10.984
| (6 75 < 8.0/ 750 3.533| 1| 3.533
| (2) 8> 8.0 750 3.815 1| 3.815
| 742 < 3.0| 1245 21.755| 1| 21.755
B(80 ) | 125 < 8.0 734 5.762] 3|17.286
| 28 60| 0.770| 1| 0.770
| 100 < 6.0 75| 0.353| 1| 0.353
| - - e -
| 58.496
\ 75 < 8.0 617 2.906| 2| 5.812
| 81 < 8.0/ 750| 3.815| 2| 7.630
| 742 < 3.0 62110.851)  1)|10.851
| 125 < 8.0| 734| 5.762| 1| 5.762
K(40 )
| 28 60| 0.770| 1| 0.770
| 100 < 6.0 75| 0.353| 1| 0.353
| - - e -
| 31.178
Mi6(4 6) | 40| 0.138] 38| 5.244

50.088 (Kg/Ring)
36.458 (Kg/Ring)
97.941 (Kg/Ring)
74.906 (Kg/Ring)
.850 (Kg/Ring)
.765 (Kg/Ring)
.000 (Kg/Ring)
.244 (Kg/Ring)

U O P W

2A + 2B + 1K + 38B.N = 270.252
270 (Kg/Ring)
360 (Kg/m)
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